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CHol: ZEAFHAY FOIBOCO(LHATHNATAANLSH ) EEREED
SN -EHH . (B) - MPAY - BE2 0 Ak o4 7|5 o HRE2
SR 490,921 461,000 29,921
= 483,047 461,000 22,047
-4l 7,874 0 7,874
HIY A 23t 483,047 461,000 22,047
= 483,047 461,000 22,047
SHAZH|S EOIHO|C D (LHASEE ALY 483,047 461,000 22,047
S=3)
= 483,047 461,000 22,047
LA FHIG XA (24]) 483,047 461,000 22,047
= 483,047 461,000 22,047
401 Al&HIZL=ROHYI 483,047 461,000 22,047
= 483,047 461,000 22,047
01 Al&HI 483,047 461,000 22,047
OUItI2E FUME ¢ B F
A 90,000,002 90,000 100,000 210,000
2 90,000 100,000 10,000
OHM2E 230tY TEHTA &3
Z & 84,047,000& 84,047 62,000 22,047
= 84,047 62,000 22,047
OLHE F2Y M= (ZIHNA)
2% 67,000,000& 67,000 57,000 10,000
= 67,000 57,000 10,000
Hess(E2m) 7,874 0 7,874
SIS (LELAFHINGXNIAAMNLSESA) 7,874 0 7,874
= - AlHl X3 Btag 7,874 0 7,874
802 Etet=zJIEt 7,874 0 7,874
01 = EXStes 7,874 0 7,874
OLEA ZWXS AL (01 KL ML)
7,874,000& 7,874 0 7,874




